

MAHANAGAR GAS LIMITED

WORK ORDER

To, Future Projects Shop No 5, Happy Home Apts, Near Mailaika, Shanti Park, Mira Road (E),, Thane-401107 Maharashtra, India Vendor Code: 203633 WO No :MGL/C&P//4100005102/2015-16/HJ WO Date :29.10.2015

RFO No :MGL/C&P/P1N4)1447/15-16/PM

RFQ Date : 23.09.2015

Your Quot/Ref No: / Future - 11/MGL) MP/ LP2 GI

NAVI MUMBAI AREA 12015 DATED: 06.10.215

2 OUR LOT NO. NIL DATED: 15.10.2015

Kind Attn:-Mr. Bhanu Singh # Proprietor

Subject :Laying of MP/LP, GI Installation of SR, RS, Gas Meter, Copper Tube, Rubber Hose, Valves etc.for PNG inside the Kitchen for Domestic&Non Domestic Customers in Navi Mumbai Area

Dear Sir/Madam

With reference to your offer against our RFQ and all subsequent correspondences (if any) till date and in continuation of our Fax of Intent(if any), we are pleased to award this order highlighting the following salient features:

Scope of work:

Laying of MDPE (Medium Density Poly Ethylene) Pipeline for City Gas Distribution Network and Installation of Service Regulator, Regulating Stations for Domestic & Non Domestic customers in ZONE # 2 # Vashi, Sanpada - DRS # 118 A, B & 119:

The Scope of Work shall be as per Tender No.:MGL/C&P/PLNG/1447/15-16/PM Dated: 23.09.2015.

Total Contract Value: The estimated value of the contract shall be Rs.2,15,26,350.00 (Rupees Two Crores Fifteen Lacs Twenty Six Thousand Three Hundred Fifty only). Service Tax and VAT shall be paid extra at actuals.

Engineer In-Charge:

Mr. G.J.P.N Murthy, AVP (Contruction) shall be the Engineer In Charge for the said job. You are requested to contact him for further instructions.

Contract Period: The Contract shall be valid for a period of One Year w.e.f 01.11.2015 to 31.10.2016.



Vendor Code: 203633 Vendor Name: Future Projects WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

SCHEDULE OF RATES

Sr.no	Service Code Description	. Qty	UOM	Rate ₹	Amount ₹
	PE & GI Navi Mumbai Zone 2 s the following services	Labour			
10	1100592 M-Z-SOR 1 -70% , L	1,550	M	332.50	515,375.00
	pressure PE pipeline on municipal cas per the scope and technical speci & 180MM Pipe				
20	1100593 M-Z-SOR 1 -20% ,L	1,550	M	95.00	147,250.00
Service Regulator ,90 mm & 125 mm	pressure PE pipeline on municipal cas per the scope and technical speci & 180MM Pipe	fication detailed in		cument; ; Labour o	
30	1100594 M-Z-SOR 1 -10% , L	1,550	M	47.50	73,625.00
	pressure PE pipeline on municipal cas per the scope and technical speci & 180MM Pipe				
40	1100598	100	EA	2,000.00	200,000.00
	M-Z-SOR 1A1 -100%, L Tap off MP Tap off up to 25 Metre				
respective SOR of	r taking TAP off on Municipal co MP Laying, Nallah Crossing, Road respective SOR of MP Laying, Nallah	d Crossing and Rei	snstament as ap	plicable. Scope of	
50	1100599 M-Z-SOR 1AA -70% , L	500	M	707.00	353,500.00
Road Crossings as J	per the scope and technical specificat	ion detailed in the	Tender Docume	nt; ; Labour cost fo	r Road Crossings
60	1100600 M-Z-SOR 1AA -20% , L	500	M	202.00	101,000.00
Road Crossings as p	per the scope and technical specificat	ion detailed in the	Tender Docume	nt; ; Labour cost fo	r Road Crossings
70	1100601 M-Z-SOR 1AA -10%, L	500	M	101.00	50,500.00
Road Crossings as 1	per the scope and technical specificat	ion detailed in the T	Tender Docume	nt; ; Labour cost fo	r Road Crossings
80	1100605 M-Z-SOR 1B -100%, L	9,500	M	51.65	490,675.00
'Permanent Reinsta	tement of Private Road#Labour & M	laterial cost for car	rying out Perma	anent reinstatement	of Private roads (i.e.,

Vendor Code: 203633 Vendor Name: Future Projects

WO No: MGL/C&P//4100005102/2015-16/HJ

other than road	ds of Government / Municipal authorities) everyated by	the contractor	e as detailed in sec	one of work of tender
document, for v	which contractor has claimed rate at SOR 1	A. 1A1. 1AA. fo	r private road	s & SOR 2A as ann	licable : Labour Cost
Permanent Rein	statement of Private Road"			a co a core are no upp	neuoion, y Eurobar Cost
90	1100607	475	M	150.00	71,250.00
	M-Z-SOR 1B1(Pre-Priced) -100%, L				
Permanent Rein	statement of Private Road(as per MCGM /	Muncipal corpora	ation Specific	ations /Requirement	s)
Permanent reins	statement of Private Ashphalt roads as ope	er lastest MCGM	specification	s (i.e., other than i	roads of Government /
Municipal author	prities) excavated by the contractor as detail	ed in scope of wo	ork of tender d	locument, for which	contractor has claimed
rate at SOR 1A,	1A1, 1AA, for private roads & SOR 2A as	tapplicable.; ; La	bour Cost for	Permanent Reinstat	ement of Private Road(
100	Muncipal corporation Specifications /Requi		M	20.00	47,000,00
100	M-Z-SOR 1SA(Pre-Priced) -100%	2,350	M	20.00	47,000.00
Charges for Co	mpliance to Health, Safety & Environment	(HSE) as details	ed in scope of	f work of tondon do	aumant Chances for
Compliance to I	Health, Safety & Environment (HSE) as deta	iled in scope of	work of tender	document	cument.; ; Charges for
110	1100610	4,700	M	25.00	117,500.00
	M-Z-SOR 1SB(Pre-Priced) -100%	1,700	141	23.00	117,500.00
Charges for pro	viding Plastic Barricading on MP pipeline	laving work as d	letailed in sco	ne of work of tende	r document · · Charges
for providing Pl	astic Barricading on MP pipeline laying wo	ork as detailed in	scope of work	of tender document	
120	1100611	25	EA	1,800.00	45,000.00
	M-Z-SOR 1C(Pre-Priced) -90%, L				
Installation of P	E stop-off valves (Supplied by MGL) on P.	E pipeline netwo	rk, and as dire	ected by EIC; as det	ailed in scope of work
of tender docum	ent.; ; Labour cost for Installation of PE sto	p-off valves			
130	1100612	25	EA	200.00	5,000.00
	M-Z-SOR 1C(Pre-Priced) -10%, L				
Installation of P	E stop-off valves (Supplied by MGL) on P.	E pipeline netwo	rk, and as dire	ected by EIC; as det	ailed in scope of work
	ent.; ; Labour cost for Installation of PE sto				
140	1100615	300	M	3,465.00	1,039,500.00
Nallaha havina a	M-Z-SOR 1D(Pre-Priced) -100%, L	1 /1 1 1	4 1 1		1
the bed with pro-	span up to 20 metres: Laying of PE pipeline tection, as detailed in scope of work of tend	at any depth belo	ow the drains /	culverts / nallahs a	t least 1000 mm below
150	1100617	40	M	8,040.00	321,600.00
	M-Z-SOR 1E(Pre-Priced) -100%, L	10	141	0,040.00	321,000.00
Laying of steel	pipeline above drains / culverts / nallahs as	detailed in scor	e of work of	tender document ·	Labour cost for steel
	rains / culverts / nallahs.			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	200001 0000 101 00001
160	1100619	10	M3	1,100.00	11,000.00
M	1-Z-SOR 1F1 (Pre-Priced) M20 PCC -100%				,
Charges for Prov	viding M20 PCC as detailed in scope of wo	rk of tender docu	ment; ; Labou	r cost for Providing	M20 PCC
170	1100620	10	M3	1,300.00	13,000.00
N	M-Z-SOR 1F2 (Pre-Priced) M20 RCC-100%	,			
Charges for Prov	riding M20 RCC as detailed in scope of wo	rk of tender docu	ment; ; Labou	r cost for Providing	M20 RCC
180	1100623	150	M3	2,900.00	435,000.00

Vendor Code: 203633 **Vendor Name:**

WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

Future Projects					
	M-Z-SOR 1G(Pre-Priced) -100%, L				
Charges for Break	ing of hard rock as detailed in scope of	work of tender doc	ument: · Labo	ur cost for Breaking	of hard rock
190	1100625 M-Z-SOR 2A -80% , L	9,500	М	200.00	1,900,000.00
"Laying of low pr carrying out Perma") PE laying"	resseure (LP) PE laying in building anent reinstatement of Private roads sha	area, as detailed in Il be paid under SO	n scope of wo DR 1B.; ; Lab	ork of tender document cost for Layin	ment.#Separate rate for g of low presseure (L
200	1100626 M-Z-SOR 2A -10% , L	9,500	M	25.00	237,500.00
"Laying of low pr carrying out Perma") PE laying"	resseure (LP) PE laying in building annent reinstatement of Private roads sha	area, as detailed in Il be paid under SC	or scope of wo OR 1B.;; Labo	ork of tender document our cost for Laying	ment.#Separate rate for g of low presseure (L
210	1100627 M-Z-SOR 2A -10%, L	9,500	M	25.00	237,500.00
"Laying of low pr carrying out Perma) PE laying"	resseure (LP) PE laying in building annent reinstatement of Private roads sha	area, as detailed in	or scope of wood R 1B.; ; Labor	ork of tender document of tender	ment.#Separate rate for g of low presseure (L.
220	1100631 M-Z-SOR 2B(Pre-priced) -100%, L	475	M	23.00	10,925.00
incremental thickne	ement of concrete suface in a trench whees of 2" of PCC (i.e., over and above the concrete suface for every incremental thic	ne standard thickne	ss of 6" PCC)	; ; Labour cost for	carrying out Permanen
230	1100633 M-Z-SOR 2AS(Pre-priced) -100%	9,500	M	15.00	142,500.00
	liance to Health, Safety & Environment (HSE) as de				cument.; ; Charges for
240	1100634	19,000	M	25.00	475,000.00
	M-Z-SOR 2AB(Pre-priced) -100%				
Charges for provid for providing Plasti	ing Plastic Barricading for LP pipeline ic Barricading for LP pipeline laying wo	laying work as de ork as detailed in so	tailed in scope cope of work of	e of work of tender of tender document.	document.; ; Charges
250	1100635 M-Z-SOR 2C (Pre-priced) -100%	50	EA	80.00	4,000.00
Service charges for Service charges for	r preparation and submission of Planne preparation and submission of Planned	ed drawings (in A drawings (in ACA	CAD format) D format) in h	in hard copy as ward copy as well as	vell as in soft copy.; in soft copy.
260	1100636	100	EA	847.80	84,780.00
	M-Z-SOR 3 (Pre-priced) -90%, L				
	n of Service Regulator Module (up to ument.; ; Labour cost for Installation of				s detailed in scope of
270	1100637	100	EA	94.20	9,420.00

Cost for Installation of Service Regulator Module (up to 65 semb) is compliance with HSE requirements, as detailed in scope of

M-Z-SOR 3 (Pre-priced) -10%, L

9,420.00

Vendor Code: 203633 Vendor Name: Future Projects

WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

work of tender docume	nt.; ; Labour cost for Installation of	Service Regulator	Module (up to	65 scmh)	
280	1100640 -Z-SOR 4 A (Pre-priced) -100%	10	EA	600.00	6,000.00
Manday Charges for pr	providing manpower (skilled, semi-sloviding manpower (skilled, semi-sl	-skilled, unskilled) killed, unskilled), as	, as detailed in so	in scope of work of ten	of tender document.;; der document.
290 M	1100641 -Z-SOR 4 B (Pre-priced) -100%	10	EA	550.00	5,500.00
Manday Charges for pr Manday Charges for pr	roviding manpower (skilled, semi oviding manpower (skilled, semi-sl	-skilled, unskilled) killed, unskilled), as	, as detailed in so	n scope of work of	of tender document.;;
300	1100642 -Z-SOR 4 C (Pre-priced) -100%	10	EA	600.00	6,000.00
Manday Charges for p Manday Charges for pr	roviding manpower (skilled, semi- oviding manpower (skilled, semi-sk	-skilled, unskilled) killed, unskilled), as	, as detailed is detailed in so	n scope of work of	of tender document.;;
310	1100643 -Z-SOR 4 D (Pre-priced) -100%	10	EA	500.00	5,000.00
Manday Charges for p	roviding manpower (skilled, semi- oviding manpower (skilled, semi-sk	-skilled, unskilled), killed, unskilled), as	, as detailed is detailed in sc	n scope of work of ope of work of tend	of tender document.;;
320	1100644 M-Z-SOR 5A-90% , L	15,000	M	135.00	2,025,000.00
Class and PETZL syste	(Threaded) Use of Electrical Rem for installation of new risers and st for Installation of GI Pipe (Threader)	d for extensions in	ERW) Galvan existing riser	ized Iron (GI) pipes s, as detailed in sc	s of Heavy or medium ope of work of tender
330	1100645 M-Z-SOR 5A-10% , L	15,000	M	15.00	225,000.00
Class and PETZL syste	(Threaded) Use of Electrical Rem for installation of new risers and st for Installation of GI Pipe (Three	d for extensions in	ERW) Galvani existing riser	zed Iron (GI) pipes s, as detailed in sco	s of Heavy or medium ope of work of tender
340	1100648 M-Z-SOR 5B-90% , L	2,500	M	198.00	495,000.00
Installation of GI - Weldsystem for installation of cost for Installation of G	ded Pipe: Use of Electrical Resistan of new risers and for extensions in e GI Pipe (Welded)	nce Welded (ERW) existing risers, as d	Galvanized la etailed in scor	ron (GI) pipes of H be of work of tende	eavy class and PETZL r document.;; Labour
350	1100649 M-Z-SOR 5B-10% , L	2,500	M	22.00	55,000.00
Installation of GI - Weld system for installation of cost for Installation of G	ded Pipe :Use of Electrical Resistar f new risers and for extensions in e GI Pipe (Welded)	nce Welded (ERW) existing risers, as de	Galvanized In etailed in scop	ron (GI) pipes of Hee of work of tender	eavy class and PETZL r document.; ; Labour
360	1100652	17,500	M	10.00	175,000.00
	-Z-SOR 5S ((Pre-Priced)-100% to Health, Safety & Environment	(HSE), as detailed	d in scope of	work of tender doc	ument.; ; Charges for

Compliance to Health, Safety & Environment (HSE), as detailed in scope of work of tender document.

Vendor Code: 203633 Vendor Name: **Future Projects**

WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

370.00 1.295,000.00 3.500 EA 370. 1100653 M-Z-SOR 6-100%, L

Installation of Copper pipe, Gas meter and associated fittings after MCV (Meter Control Valve) upto all cooking appliances, as detailed in scope of work of tender document including Conversion of domestic cooking appliances: Testing and commissioning of cooking appliances (having burners, grill / oven, etc.) in the premises of the domestic customers, as detailed in scope of work of tender document.; ; Labour cost for Installation of Copper pipe, Gas meter and associated fittings after MCV (Meter Control Valve) upto all cooking appliances

3,500 EA 10.00 35,000.00 1100656 380 M-Z-SOR 6S (Pre-Priced) -100%

Charges for Compliance to Health, Safety & Environment (HSE), as detailed in scope of work of tender document.; ; Charges for Compliance to Health, Safety & Environment (HSE), as detailed in scope of work of tender document.

100.00 5,000.00 50 390 1100657

M-Z-SOR 7 (Pre-Priced) -100%- L

Charges for carrying out Conversion of domestic cooking appliances where meters are installed by previous contractors and only Testing and commissioning of cooking appliances (having burners, grill / oven, etc.) in the premises of the domestic customers is balance as detailed in scope of work of tender document including ccompliance to all the requirements of HSE; ; Charges for carrying out Conversion of domestic cooking appliances where meters are installed by previous contractors and only Testing and commissioning of cooking appliances (having burners, grill / oven, etc.) in the premises of the domestic customers is balance as detailed in scope of work of tender document including ccompliance to all the requirements of HSE

100,800.00 5,040.00 1100660 400 M-Z-SOR 8C (Pre-Priced) -90%, L

"I&C (with pipe size up to 2"" & length up to 3 metres) - Installation of Gas Meters, service regulators, service regulator modules, supply and installation of meter inlet pipe (carbon steel, ASTM A106, Gr.B, Schedule 40, ERW GI pipe heavy class), as detailed in scope of work of tender document.; ; Labour cost for I&C -I&C (with pipe size up to 2"" & length up to 3 metres)#"

560.00 11,200.00 20 EA 410 1100661 M-Z-SOR 8C (Pre-Priced) -10%, L

I&C (with pipe size up to 2" & length up to 3 metres) - Installation of Gas Meters, service regulators, service regulator modules, supply and installation of meter inlet pipe (carbon steel, ASTM A106, Gr.B, Schedule 40, ERW GI pipe heavy class), as detailed in scope of work of tender document.; ; Labour cost for I&C -I&C (with pipe size up to 2" & length up to 3 metres)

EA 6.300.00 12,600.00 420 1100664

M-Z-SOR 8D (Pre-Priced) -90%, L I&C (with pipe 2" to 3" & length up to 3 metres) - Installation of Gas Meters, service regulators, service regulator modules, supply and installation of meter inlet pipe (carbon steel, ASTM A106, Gr. B, Schedule 40, ERW GI pipe heavy class), as detailed in scope

of work of tender document.; ; Labour cost for I&C (with pipe 2" to 3" & length up to 3 metres)

1,400.00 FA 700.00 430 1100665 M-Z-SOR 8D (Pre-Priced) -10%, L

I&C (with pipe 2" to 3" & length up to 3 metres) - Installation of Gas Meters, service regulators, service regulator modules, supply and installation of meter inlet pipe (carbon steel, ASTM A106, Gr. B, Schedule 40, ERW GI pipe heavy class), as detailed in scope of work of tender document.; ; Labour cost for I&C (with pipe 2" to 3" & length up to 3 metres)

990.00 198.00 M 440 1100668 M-Z-SOR 8E (Pre-Priced) -90%, L

I&C (over and above lengths of 3 metres) - Fabrication and installation of meter inlet pipe (for SR Modules as well as Riser

Vendor Code: 203633

Vendor Name:

Future Projects

WO No: MGL/C&P//4100005102/2015-16/HJ

	abour cost for I&C (over and above lengths of	of 3 metres)			
450	1100669 M-Z-SOR 8E (Pre-Priced) -10%, L	5	M	22.00	110.00
	above lengths of 3 metres) - Fabrication a abour cost for I&C (over and above lengths of		of meter inle	t pipe (for SR Mod	lules as well as Rise
460	1100672 M-Z-SOR 9.1 (Pre-Priced) -100% L	50	EA	255.00	12,750.00
ixing of crimpi	ng; ; Labour charges for fixing of crimping				
470	1100673 M-Z-SOR 9.2 (Pre-Priced) -100% L	50	EA	120.00	6,000.00
Fixing of crimp	guard; ; Labour charges for fixing of crimp g	guard			
480	1100675 M-Z-SOR 9.3 (Pre-Priced) -100%, L	1,000	M	70.00	70,000.00
Reinstatement ir	nside the premises of society; ; Labour charge	es for reinstatem	ent inside the	premises of society	
490	1100677 M-Z-SOR 9.4 (Pre-Priced) -100%, L	20	M3	2,900.00	58,000.00
Breaking and rea	moving of RCC; ; Labour Charges for Break	ing and removin	g of RCC		
500	1100679 M-Z-SOR 9.5 (Pre-Priced) -100%, L	50	М	70.00	3,500.00
Reinstatement w	ith paver blocks on roads / footpath; ; Labou	ir cost for Reinst	atement with		
510	1100681 M-Z-SOR 9.6 (Pre-Priced) -100%, L	50	EA	345.00	17,250.00
	n joints (up to 180 mm); ; Labour charges fo				
520	1100682 M-Z-SOR 9.7 (Pre-Priced) -100% , L	4,000	М	135.00	540,000.00
Rectification(incharges for Rect	cluding Route marker and Warning sign), Te ification(including Route marker and Warning)	esting & commising sign), Testing	sioning of Mi & commission	ning of MP PE pipe	line up to dia 180 mn
530	1100683 M-Z-SOR 9.8 (Pre-Priced) -100%, L	4,500	M	62.00	279,000.00
	esting & commissioning of LP PE pipeling of LP PE pipeline up to dia 90 mm				
540	1100685 M-Z-SOR 9.10 (Pre-Priced) -100%, L	1,700	EA	720.00	1,224,000.00
510			n the kitchen		
	thing up hole in the kitchen.; ; Charges for pa	atching up hole in	ii the kitchen.		
	thing up hole in the kitchen.; ; Charges for particle 1100684 M-Z-SOR 9.9 (Pre-Priced) -100% , L	atching up hole in 100	EA	145.00	14,500.00
Charges for pate 550 Charges for Re	1100684	100	EA		

Vendor Code: 203633 Vendor Name: Future Projects WO No: MGL/C&P//4100005102/2015-16/HJ

Dismantling of	GI pipes (Medium Class) of size from 1/2" of size from 1/2" NB to 1" NB, and shiftir	NB to 1" NB, and	shifting of M	CV; ; Charges for d	ismantling of GI pipes
570	1100687	100	M	56.00	5,600.00
370	M-Z-SOR 9.11 (Pre-Priced) -100%, Heav		111	50.00	
Dismantling of (Heavy Class) of	GI pipes (Heavy Class) of size from 1/2" It is size from 1/2" NB to 1" NB, and shifting	NB to 1" NB, and	shifting of MO	CV; ; Charges for di	ismantling of GI pipes
580	1100688 M-Z-SOR 9.12 (Pre-Priced) -100%, L	700	M	120.80	84,560.00
	of GI pipes (Medium Class) of size from 1/ om 1/2" NB to 1" NB	2" NB to 1" NB;;	Labour Charg	ges for re-installation	n of GI pipes (Mediun
590	1100690 M-Z-SOR 9.13 (Pre-Priced) -100%, L	200	M	188.80	37,760.00
Charges for repipes (Heavy C	installation of GI pipes (Heavy Class) of slass) of size from 1/2" NB to 1" NB	size from 1/2" NB	to 1" NB;;	Labbour Charges for	or re-installation of G
600	1100692 M-Z-SOR 9.14 (Pre-Priced) -100%, L	20	EA	484.00	9,680.00
MCV).; ; Labor same (including ITEM 00020	nstream of MCV) of the existing copper pur Charges for removal (downstream of Mg shifting of MCV). O PE & GI Navi Mumbai Zone 2 livers the following services	CV) of the existin	c. and re-insta g copper pipe	llation of the same , gas meter, etc. and	(including shifting of d re-installation of the
10	1100595	1,550	M	64.96	100,688.00
10	M-Z-SOR 1 -70%, M	1,000			
Laying of Med Service Regular no. 110	ium pressure PE pipeline on municipal co tor as per the scope and technical specific	rporation Roads vation detailed in th	with temporary e Tender Doc	y reinstatement from ument; ; Material co	n DRS to upstream of ost for above SOR iten
20	1100596 M-Z-SOR 1 -20% , M	1,550	M	18.56	28,768.00
Laying of Med Service Regular no. 110	ium pressure PE pipeline on municipal co tor as per the scope and technical specific	rporation Roads vation detailed in th	with temporar e Tender Doc	y reinstatement from ument; ; Material co	n DRS to upstream of ost for above SOR item
30	1100597 M-Z-SOR 1 -10% , M	1,550	M	9.28	14,384.00
Service Regula	ium pressure PE pipeline on municipal co tor as per the scope and technical specific	rporation Roads vation detailed in th	with temporar e Tender Doc	y reinstatement from ument; ; Material co	n DRS to upstream of ost for above SOR item
no. 110 40	1100602	500	M	203.35	101,675.00
	M-Z-SOR 1AA -70%, M	- 1-4-11-1 ! th - T	andan Daar	ant: Material acet	for Road Crossings
	s as per the scope and technical specification			58.10	29,050.00
50	1100603 M-7-SOR 144-20% M	500	M	36.10	25,050.00

Vendor Code: 203633 Vendor Name: Future Projects WO No: MGL/C&P//4100005102/2015-16/HJ

Road Crossings as	per the scope and technical specificat	ion detailed in the T	ender Docum	ent; ; Material cost f	or Road Crossings
60	1100604	500	M	29.05	14,525.00
	M-Z-SOR 1AA -10%, M				
Road Crossings as	per the scope and technical specificat			ent; ; Material cost f	or Road Crossings
70	1100613	25	EA	9,450.00	236,250.00
	M-Z-SOR 1C(Pre-Priced) -90%, M			510	
Installation of PE s of tender document	stop-off valves (Supplied by MGL) or t.;; Material cost for Installation of PR	n PE pipeline netwo: E stop-off valves	rk, and as dir		
80	1100614	25	EA	1,050.00	26,250.00
	M-Z-SOR 1C(Pre-Priced) -10%, M				
Installation of PE so of tender document	stop-off valves (Supplied by MGL) of t.; ; Material cost for Installation of PI	n PE pipeline netwo E stop-off valves	rk, and as dir	ected by EIC; as det	
90	1100616	300	M	1,035.00	310,500.00
	M-Z-SOR 1D(Pre-Priced) -100%, M				
Nallahs having spa	in up to 20 metres:Laying of PE pipel stion, as detailed in scope of work of to	ine at any depth belo	ow the drains Material Cost	/ culverts / nallahs at for Nallahs having sp	t least 1000 mm below can up to 20 metres
100	1100618	40	M	3,960.00	158,400.00
100	M-Z-SOR 1E(Pre-Priced) -100%, M				
	peline above drains / culverts / nallahsins / culverts / nallahs.		e of work of	tender document.;;	
110	1100628	9,500	M	44.80	425,600.00
	M-Z-SOR 2A -80%, M				
"Laying of low pr carrying out Perma) PE laying"	esseure (LP) PE laying in building ment reinstatement of Private roads sh	g area, as detailed in all be paid under SC	n scope of w OR 1B.;; Mate	ork of tender documerial cost for Laying	nent.#Separate rate for g of low presseure (LP
120	1100629	9,500	M	5.60	53,200.00
1	M-Z-SOR 2A -10%, M				
"Laying of low pr carrying out Perma) PE laying"	resseure (LP) PE laying in building anent reinstatement of Private roads sh	g area, as detailed in all be paid under SC	n scope of w DR 1B.; ; Mate	ork of tender documerial cost for Laying	g of low presseure (LP
130	1100630	9,500	M	5.60	53,200.00
	M-Z-SOR 2A -10%, M				
"Laying of low pr carrying out Perma) PE laying"	resseure (LP) PE laying in building anent reinstatement of Private roads shape	g area, as detailed in all be paid under SC	n scope of w OR 1B.;; Mate	ork of tender documerial cost for Laying	nent.#Separate rate fo g of low presseure (LP
140	1100638	100	EA	1,807.20	180,720.00
	M-Z-SOR 3 (Pre-priced) -90%, M				
Cost for Installation	on of Service Regulator Module (up cument.;; Material cost for Installation	to 65 scmh) in com	piiance with or Module (up	to 65 scmh)	is detailed in scope of
150	1100639	100	EA	200.80	20,080.00
100	M-Z-SOR 3 (Pre-priced) -10%, M	18 P. R. G. 4.01			

Vendor Code: 203633 Vendor Name: Future Projects WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

Cost for Installation of Service Regulator Module (up to 65 scmh) in compliance with HSE requirements, as detailed in scope of work of tender document.; ; Material cost for Installation of Service Regulator Module (up to 65 scmh)

160

1100646

15,000

M

56.25

843,750.00

M-Z-SOR 5A-90%, M

Installation of GI Pipe (Threaded) Use of Electrical Resistance Welded (ERW) Galvanized Iron (GI) pipes of Heavy or medium Class and PETZL system for installation of new risers and for extensions in existing risers, as detailed in scope of work of tender document.; ; Material cost for Installation of GI Pipe (Threaded)

170

1100647 M-Z-SOR 5A-10%, M 15,000

M

6.25

93,750.00

Installation of GI Pipe (Threaded) Use of Electrical Resistance Welded (ERW) Galvanized Iron (GI) pipes of Heavy or medium Class and PETZL system for installation of new risers and for extensions in existing risers, as detailed in scope of work of tender document.; ; Material cost for Installation of GI Pipe (Threaded)

180

1100650

2,500

M

86.58

216,450.00

M-Z-SOR 5B-90%, M

Installation of GI - Welded Pipe: Use of Electrical Resistance Welded (ERW) Galvanized Iron (GI) pipes of Heavy class and PETZL system for installation of new risers and for extensions in existing risers, as detailed in scope of work of tender document.;; Labour cost for Installation of GI Pipe (Welded)

190

1100651

2.500

M

9.62

24,050.00

M-Z-SOR 5B-10%, M

Installation of GI - Welded Pipe: Use of Electrical Resistance Welded (ERW) Galvanized Iron (GI) pipes of Heavy class and PETZL system for installation of new risers and for extensions in existing risers, as detailed in scope of work of tender document.;; Labour cost for Installation of GI Pipe (Welded)

200

1100654

3,500

EA

165.00

577,500.00

M-Z-SOR 6 -100%, M -5%

Installation of Copper pipe, Gas meter and associated fittings after MCV (Meter Control Valve) upto all cooking appliances, as detailed in scope of work of tender document including Conversion of domestic cooking appliances: Testing and commissioning of cooking appliances (having burners, grill / oven, etc.) in the premises of the domestic customers, as detailed in scope of work of tender document.; ; Material cost for Installation of Copper pipe, Gas meter and associated fittings after MCV (Meter Control Valve) upto all cooking appliances

210

1100662

20

EA

9,360.00

187,200.00

M-Z-SOR 8C (Pre-Priced) -90%, M

I&C (with pipe size up to 2" & length up to 3 metres) - Installation of Gas Meters, service regulators, service regulator modules, supply and installation of meter inlet pipe (carbon steel, ASTM A106, Gr.B, Schedule 40, ERW GI pipe heavy class), as detailed in scope of work of tender document.; ; Material cost for I&C -I&C (with pipe size up to 2" & length up to 3 metres)

220

1100663

20

EA

1,040.00

20,800.00

M-Z-SOR 8C (Pre-Priced) -10%, M

I&C (with pipe size up to 2" & length up to 3 metres) - Installation of Gas Meters, service regulators, service regulator modules, supply and installation of meter inlet pipe (carbon steel, ASTM A106, Gr.B, Schedule 40, ERW GI pipe heavy class), as detailed in scope of work of tender document.; ; Material cost for I&C -I&C (with pipe size up to 2" & length up to 3 metres)

230

1100666

EA

15,300.00

30,600.00

M-Z-SOR 8D (Pre-Priced) -90%, M

Vendor Code: 203633 Vendor Name: Future Projects

290

WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

and installation of	to 3" & length up to 3 metres) - Installa meter inlet pipe (carbon steel, ASTM A document.;; Material cost for I&C (with	106, Gr. B, Sche	dule 40, ERW	GI pipe heavy class	lator modules, supply), as detailed in scope
240	1100667 M-Z-SOR 8D (Pre-Priced) -10% , M	2	EA	1,700.00	3,400.00
and installation of	to 3" & length up to 3 metres) - Installar meter inlet pipe (carbon steel, ASTM A document.; ; Material cost for I&C (with	106, Gr. B, Schee	dule 40, ERW	GI pipe heavy class	lator modules, supply), as detailed in scope
250	1100670	5	M	387.00	1,935.00
I&C (over and ab Regulators);; Mat	M-Z-SOR 8E (Pre-Priced) -90%, M pove lengths of 3 metres) - Fabrication erial cost for I&C (over and above length	and installation s of 3 metres)	of meter inle	t pipe (for SR Modu	ules as well as Riser
260	1100671 M-Z-SOR 8E (Pre-Priced) -10%, M	5	M	43.00	215.00
I&C (over and ab Regulators); ; Mate	ove lengths of 3 metres) - Fabrication erial cost for I&C (over and above length	and installation of 3 metres)	of meter inlet	pipe (for SR Modu	ules as well as Riser
270	1100689 M-Z-SOR 9.12 (Pre-Priced) -100%, M	700	M	59.20	41,440.00
Re-installation of (Medium Class) of	GI pipes (Medium Class) of size from size from 1/2" NB to 1" NB	1/2" NB to 1" 1	NB; ; Materia	al Charges for re-ins	tallation of GI pipes
280	1100691 M-Z-SOR 9.13 (Pre-Priced) -100%, M	200	M	81.20	16,240.00
	tallation of GI pipes (Heavy Class) of si	ze from 1/2" NB	to 1" NB;;	Material Charges for	re-installation of GI

Removal (downstream of MCV) of the existing copper pipe, gas meter, etc. and re-installation of the same (including shifting of MCV).;; Material Charges for removal (downstream of MCV) of the existing copper pipe, gas meter, etc. and re-installation of the same (including shifting of MCV).

20

EA

156.20

ITEM 00030 PE & GI Navi Mumbai Zone 2Material-12.5% The item covers the following services

1100693

M-Z-SOR 9.14 (Pre-Priced) -100%, M (VAT

10 1100606 9,500 M 245.00 2,327,500.00 M-Z-SOR 1B -100%, M

"Permanent Reinstatement of Private Road#Labour & Material cost for carrying out Permanent reinstatement of Private roads (i.e., other than roads of Government / Municipal authorities) excavated by the contractor as detailed in scope of work of tender document, for which contractor has claimed rate at SOR 1A, 1A1, 1AA, for private roads & SOR 2A as applicable.; ; Material Cost Permanent Reinstatement of Private Road"

20 1100608 475 M 1,350.00 641,250.00

M-Z-SOR 1B1(Pre-Priced) -100%, M

Permanent Reinstatement of Private Road(as per MCGM /Muncipal corporation Specifications /Requirements)

Permanent reinstatement of Private Ashphalt roads as oper lastest MCGM specifications (i.e., other than roads of Government /

3,124.00

Vendor Code: 203633 Vendor Name: Future Projects

ONLY

WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

Municipal authorate at SOR 1A	orities) excavated by the contractor as detailed, 1A1, 1AA, for private roads & SOR 2A a	d in scope of wo	ork of tender d	ocument, for which	contractor has claimed
Road(as per Mo	CGM /Muncipal corporation Specifications /	Requirements)	, material co.	st for 1 crimanent Re	instatement of Tilvate
30	1100621	10	M3	4,400.00	44,000.00
N	M-Z-SOR 1F1 (Pre-Priced) M20 PCC -100%			1,100.00	11,000.00
	viding M20 PCC as detailed in scope of wor		ıment; : Mater	ial cost for Providin	g M20 PCC
40	1100622	10	M3	5,200.00	52,000.00
N	M-Z-SOR 1F2 (Pre-Priced) M20 RCC-100%			2,200.00	32,000.00
	viding M20 RCC as detailed in scope of wor		ıment; ; Mater	ial cost for Providin	g M20 RCC
50	1100632	475	M	92.00	43,700.00
	M-Z-SOR 2B(Pre-priced) -100%, M				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
incremental thic	tatement of concrete suface in a trench where ekness of 2" of PCC (i.e., over and above tatement of concrete suface for every increm-	the standard t	hickness of 6	PCC); ; Material	cost for carrying out
60	1100655	3,500	EA	87.20	305,200.00
	M-Z-SOR 6 -100%, M-12.5%				
detailed in scope cooking applian tender documen Valve) upto all c	Copper pipe, Gas meter and associated fitting of work of tender document including Conces (having burners, grill / oven, etc.) in the t.; ; Material cost for Installation of Copperooking appliances	version of dome e premises of the	estic cooking and domestic cu	appliances: Testing a stomers, as detailed	and commissioning of d in scope of work of
70	1100674	50	EA	480.00	24,000.00
	M-Z-SOR 9.2 (Pre-Priced) -100% M				
	guard; ; Material charges for fixing of crimp				
80	1100676	1,000	M	280.00	280,000.00
	M-Z-SOR 9.3 (Pre-Priced) -100%, M				
	side the premises of society; ; Material charg				
90	1100680 M-Z-SOR 9.5 (Pre-Priced) -100%, M	50	M	280.00	14,000.00
Reinstatement w	ith paver blocks on roads / footpath; ; Materi	al Charges for F	Reinstatement v	with paver blocks on	roads / footpath
100	1100694	20	EA	127.80	2,556.00
I	M-Z-SOR 9.14 (Pre-Priced) -100%, M (ST)				
MCV).; ; Mater same (including	stream of MCV) of the existing copper pipe ial Charges for removal (downstream of MC shifting of MCV).				
Total Order	Value: ₹21,526,350.00				

TWO CRORE FIFTEEN LAKH TWENTY SIX THOUSAND THREE HUNDRED FIFTY RUPEES

The estimated value of the contract shall be Rs.2,15,26,350.00 (Rupees Two Crores Fifteen Lacs Twenty

Tax details for item(s) 00010 = ST14% ND on 100% (MGL50L&Ven50L)

Tax details for item(s) 00030 = Nil ED, VAT-12.50%-ND. Tax details for item(s) 00020 = Nil ED, VAT- 5%-ND

12 of 15

Vendor Code: 203633

Vendor Name: Future Projects WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

Six Thousand Three Hundred Fifty only). Service Tax and VAT shall be paid extra at actuals.

Header text:

ZONE # 2 # Vashi, Sanpada - DRS # 118 A, B & 119.

Performance Bank Guarantee/SD

Security Deposit:

Security Deposit for contract performance in the form of Bank Guarantee as per proforma at (Appendix - PBG) or DD in favour of Mahanagar Gas Limited, payable at Mumbai shall be submitted. The security deposit shall be for 10% of contract value (excluding Taxes & Duties), valid till the contractual completion time plus 12 months. The Security deposit shall be submitted within 15 days from the date of issue of Letter of intent/Work order whichever is earlier. The Security Deposit for performance, if submitted in the form of BG, shall be from a Nationalized Bank / Scheduled Bank / Cooperative Schedule Bank / Multi National Bank / Reputed Foreign Bank only. No interest on security deposit shall be paid.

Alternatively, Service Provider may submit BG towards security deposit for 5% of contract value and balance 5% shall be deducted from their running bill @ 10% till the amount becomes 5% of the contract value.

INDEMNITY BOND:

You shall submit the Indemnity Bond as per proforma at (Appendix - IB) against free issue of material / goods supplied to the contractor by MGL, which is equivalent to the value of Rs. 25 Lacs.

General Condition of Contract

The General Condition of Contract shall be as per Tender No.: MGL/C&P/PLNG/1447/15-16/PM Dated: 23.09.2015.

Special Conditions of Contract

The Special Condition of Contract shall be as per Tender No.: MGL/C&P/PLNG/1447/15-16/PM Dated: 23.09.2015.

Terms of payment

Payments Terms shall be as per Tender No.:MGL/C&P/PLNG/1447/15-16/PM Dated: 23.09.2015.

Other contractual stipulations

You shall comply with all the necessary statutory formalities required for the work. The agency should take care of PF, ESIC, Accident insurance & other incidental expenses and provision of Labour Act as applicable. You may collect form V From AVP - (HR & ADMEN) for taking necessary actions at your end (i.e. for registration with Labour Commissioner).

Vendor Code: 203633

Vendor Name: **Future Projects** WO No: MGL/C&P//4100005102/2015-16/HJ

WO Date: 29.10.2015

Please send us a copy of this Work order duly signed as token of acceptance

Yours Truly,

for MAHANAGAR GAS LTD.

yell 30/10/15 (Authorized Signatory)
Rakesh Chawla

General Manager (Finance)

MAHANAGAR GAS LTD.

DOCUMENTS CHECK LIST FOR SERVICE PROVIDER

(Service providers / Contractors shall ensure the following documents are enclosed while submitting the bills / invoice to the Engineer In-charge)

WO No.: WO Date:

We M/s hereby confirm that we have submitted following set of documents along with the bills / invoice to the Engineer In-charge.

Sr.No.	Documents	Submitted	Not Applicable (NA)
1	Original Tax Invoice (with Service No., Service Tax No., Service Tax Category and Service Tax breakup, VAT declaration as per Maharashtra Value Added Tax Act 2002, if VAT is applicable)		
2	Test Certificate and Reports / Measurement Sheet / Drawings or any other mentioned in the Tender.		
3	No Dues / No Claim Certificate (to be submitted while submitting Last Bill / Invoice of the contract).		

(Please tick all sections)

Place: Date:

Signature of Service Provider with the seal of the firm

Name and Designation & Contact No of Authorized Person

Billing address for Tax Invoice:

(Engineer In-charge) Mahanagar Gas Ltd., City Gate Station, Opp. Anik Bus Depot, Near Everard Nagar, Sion (East), Mumbai - 400022.

Tel: 022 - 24012451 Fax: 022 - 24010080 Mahanagar Gas Ltd., MGL House, Block No.G-33, Opp. ICICI Tower, Bandra Kurla Complex, Bandra (East), Mumbai-400 051. Tel: 022 - 66785000

Fax: 022 - 26541046/26540092

MGL's Statutory Details

VAT Tin No. :27390000364V CST Tin No. :27390000364C

Excise No. :AABCM4640GXM001, Range - 03, Division - Chembur -I,

Commissionerate - Mumbai - II



Or